l. (@) ﬁ‘liiﬂ'l%igi‘f« Ho: 225 H;‘fﬁi'ﬁ.

Taz10. Tg=20. Tc =30 . G= o

N=I15, K=3

$%a = 34—%:/4— , SS‘a:/;o-"}; =30 SSc=3|0- %’;;o
SSw=554+Ssg+SSc= T4

loo Yoo

dog | 4ee o _ 3beo
SSg= gt 5 T~ S5 ko

231 Ss df Ms F
2k 38 id) 4o 2 20
4321 T 2 1T 33
| 3 oy |y
F(2,12)= 3.8 F<Peic . A% Mo, ihH A%
BurAeiliiii s

b) HERIELA. Mo A2F W:-%AEE
SSw=L5SS=T4¢ ,95g=¢o0.

2 3bee  _
Ssp=ds B BBty B 25 = 5y

$5:5%%= 55w =55p =T4-5Sk=1lo

b 3773 55 df MS F
23704 Yo 2 20
PRI A Ik 12

Fh i) 54 Y

¥ 20 8 29 %

K4 o4 ¢



F(2:8) =htt. F7Feir. 3EIE Ho, A fLtds
AT AL R R R AV R AT

©) GEM T Al T4 2501500052

2. K SS df MS
AT (] be 3 20 F= |o
AEBEN _fo 3p
BN 36 9
e 54 21 2
S8: 0] 150 39

0f = k4=3. 5sg= M5-dfi=to
B4vs5 = 558+ 55w =150 3 S5w=90
$S:2% = SSw - SSp= 90 -3b= 5§
df, = N-K = §xio- ¢ = 3b
dfs= n-1=9 dfy= N-k-n=<i=2]

3. Ho: 21%%n. H:RE%HFw

Ti=30 Ta=20. T3=10 G =bo.

SS' 190—3-;.’0‘10 $$3= 86"4/‘;0=6 SS’ ;°‘%°‘la.
$Sw = 5SS = lo+1,+/o-)6

00 + foot lod -
5. = -——i’_" —q.o



P,=8, P.=18 . P3=1l. Pus 13. Ps =)o.
b4 r32% 1214169 + 10 340 > 19.33

5Sp = > T
7. ss df MS F
4+ 3% 19) o 2 20
LIRE AL 2} 12

Al 18 1933 4

i% 667 8 o.8:l 2399
ke bo ¥

Fl2.8)= 446 . F 7 Ferit

nsp =9 |25 = doux _5,-—””" 2045

;(-, :é. Y;:: U, -X‘g‘:l

K- =2 7 165 hiameail%ig
X-% =4 7 165

X -k =2 2 IS

Fa M mEAM = THBoanFigmsninsalt%n.
Fe2.8)=44. p<o-0§,






